The cheetah
Answer:

C1

at high speeds.

The lion
Answer:

its prey in the wild.

The eagle
Answer:

through the sky.

The dolphin
Answer:

gracefully in the ocean.

The kangaroo
Answer:

through the outback.

The monkey
Answer:

playfully in the trees.

The penguin
Answer:

in frigid temperatures.

The owl
Answer:

at night.

The hummingbird

Answer:

from flower to flower.

The turtle
Answer:

slowly on land.




Answers

The cheetah at high speeds.
Answer: will be running

The lion its prey in the wild.

Answer: will be hunting

The eagle through the sky.
Answer: will be soaring

The dolphin gracefully in the ocean.
Answer: will be swimming

The kangaroo through the outback.

Answer: will be hopping

The monkey playfully in the trees.
Answer: will be swinging

The penguin in frigid temperatures.
Answer: will be waddling

The owl at night.
Answer: will be hooting

The hummingbird from flower to flower.

Answer: will be flitting

The turtle slowly on land.
Answer: will be crawling



